--------- is normally restricted to rectangular departments but it car

with non rectangular buildings.

-
B

O Pairwise method

O Blocplan method

d ©, craft method

O Groph-bosed method
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n motenol handling is threewdlmensmnal and ther




please select the correct answer:

O two grids that touch each other at the corners are consi
‘ @ two grids that touch each other at the corners are not co

‘ O two grids that touch each other at the corners are not co

O Improvement-type olgonthms sta% an initial layout fro
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A product requires three Processes jn the rollowmg Sequence A-B-C-4 |t IS known that
Not yet moving one unit from a-g j equivalent of maving two units from B~C and js equivalent
Nswered to moving 3 ynits from A-¢ Given that 39 Units will he Produceq. What will pe the totq/
Marked oyt of of €quivalent flows (cons:der the unit elween A-B the CoOmmon unit)
3.00
¥ Flag i
Question 1 A~ | B | i bR la)

\fro;h arto bf=3

{from p toc f=)5

from ¢ o af=)g

total flow= 55
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1\ An industrial tacility employs 600 employees and they are
shifts. The space that should be planned for serving lin@s 1§ =========~ 57
ed | |
Joutof 1500 WEN)
[ [
300 [
i (ol
ton ® 900 NS

2700
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‘the unit load size = 4. Assume
_— i s {111







\ES PLANNING AND MATERIAL HANDLING

Ay courses FACIUTIES PL ANNING AND MATERIAL HANDLING General 50% Final t

The total space requirement that should be allowed in the facility plan for h€ alth services
and a part time physician is ======~ o
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Jestion ]
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Flag question

Please select the correct answer:

O Small loads reduce

s transportation costs and reduce work in process
inventory.
@ In order to achieve a single unit production, the mate

rial handling time must
[y be shorter than the unit processing time.
O Large loads increases transportation costs and reduce

work in process
inventory.
O In order to achieve a single unit production, the material

handling time must
be longer than the unit processing time.
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Please select the correct answer:
©® The adjacency score does not account for distance, nor it accounts for
relationships between adjacent departments.

O The adjacency score does not account for distance, but it accounts for
relationships between non-adjacent departments.

O lThe adjacency score does not account for distance, but it accounts for
relationships between adjacent departments.

O The graph obtained from the relationship diagram is usually planar graph.

Clear my choice
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ol Please select the correct answer:

O Space in material handling is three-dimensional and therefore is counted as
out of cubic space.

O Space in material handling is two-dimensional and therefore is counted as
A square feet space.

O Standardization in material handling means more variety and customization in
equipment and method.

Standardization in material handling means less variety and more customization
in equipment and method.

N
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i Consider the following information:

st

fered Initial layout:

ed out of 1234
Flow matrix:

)

stion 1 2 3 4
1 20 15 10
2 10 5

3 10 5

4

Assume the distance fro P/D of each pGil (o} depo tments is 15" Bidirectional
aterial ha dhng SyS[el is used. Calculate the
culate t total cost of layout when the pair =3
is selected. :\ A ;

S

3 A~ |6B I = ;E S S =

10* . 3 g
(10%15)+(30*25) +(45*5) +(15*20) + (30*5) + (15*10) =1725

here to search o
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My courses

General

Please select the correct answer:

O the block layout is concerned with the micro flows.
O the detailed layout comes before the block layout
® the block layout comes before the detailed layout

O the detailed layout is concerrLd with the macro flows.

Clear my choice
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In deciding machine requirement,
dedicating manufacturing cells may

O preventive maintenance

O the longer setup, the more
machines needed

O require more machines

O require less machines

Question ]6

Not yet answered



Question

Time left 0:19:44

Not yet answered

Marked out of 3.00

" Flag question

Given the following information for
movement of components x, y and z
in facility departments A to C.
Components x to z are different in
their weight. Moving 2 components of
X is equivalent to moving one of
component y. Moreover, moving one
component of y is equivalent to
moving three component of z. It is
decided that the movement factor is
decided based on the weight of

componenty.

Quantity .
Rout
Component per day outing
A-B-
40

> C-A
y 12 A-C-B
z 30 B-C-A

Calculate the total of flow volumes
between departments A-C and C-A.

380 A~ | Bl I ==
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 Ifa product dominates the production flo

shop facility is suggested.
ed

lout of select one:

True

False

=0Irect answer:;

In flow Within a product
product flow,

O In flow within a process department, flow typi
between departments and aisles.

department, flow of

O In flow within a product department, flo
between departments and aisles.

low within a product department



,d tunng facility that consists of process plannmg department
ts, the workstation can be desng

to hospital design.

YI Clear my choice
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Inventory control decisions only affect handling systems.
inventory control decisions only affect the layout. ;
inventory control decisions affect the layout and handiing system

inventory control decisions affect the systems design and handli
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| Time left 0:55:11 [

A product requires a three-step manufacturing process (1-4). Their defective rates
are 5%, 2%, 3% and 1%, respectively. The scrap

costsare $ 3,4, 5 and 10, respectively.
The demand requires 2,500 units, Compute the required input for operation 1 and its
scrap cost.

YilAv B | I || SHE & ¢
=200 O = aZ a3 =077
i1=2796

i12=2656

i3=2603

i4=2525

scrap cost

scap in i1=140

scrap in i2=53

scrap i3=78

scrap i4=26

cost =l40‘3+53‘4+78*5+26‘10=I2TB2

arch l_-O gi @eﬁ:—;aﬁé@ 8 = 76°F

3 : (= Tex
DEEDE DTS

D /% o
15 o |6 1
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(d) What assignment of NC machines will minimize the cost per batch
|

YA~ | B I NE[ENS\SE@E

a- 5+40/5+8=3.4
b-1m=0---->m<=nA so m=3
=
d-e=0.43

3.43x3.4/4.43x3=0.87

0.87<1 so n machines (3)
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machine 3 products | and 4 and 6
machine | products | and 4 and 2




lows the product flow.

curs between depal




Given the following inﬁme left 0:35:48 ’

parts Pl and P2 on machines A and B
(Efficiency and Reliability values are
95 % for both machines). The setup
times for for P1 and P2

are 30 and 20 minutes, respectively.
The Pl routing is B-A; 10,000 units to
be produced per year. The P2 routing
is A-B; 50,000 units to be produced
per year.

Machine A

P1 standard time

(hour)

P2 standard time (hour) 015 0.
P1 defect estimate % 3 4
P2 defect estimate % 5 4

0.1 0.2

Availability (hours)

1600 1400

Show calculations:

(a) What is the input of machine B for
part P1 (round up).

(b) What is the input of machine A for
part P2 (round up).

(c) What fraction of machines
required to compensate for setup
times for parts Pl and P2.

(d) What are the fractions of
machines A and B to produce parts
Pl and P2 when preventive
maintenance is regularly

performed?.




ve 'lhesetupeoctsorosa 4,50nd10 rodpocﬂvoly The
input for operation 2 and its scrap cost.

S WA~ BT :E'es % | 55 g

B | 12=2500/(.99*.97*.98)= 2656.48=2657
S.C=2657*02"4=21258
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: : e ( Time left 0:52:58 |
Castings are conveyed to NC machine, which is programmed DYIGIIO =i s S
Reprogramming is performed after producing each batch of castings. The
reprogramming requires 5 minutes. The NC machine operates automatically for 40
minutes. Operator can restock the machine with new castings during the last 5
minutes of automatic operation. Restocking castings requires 5 minutes. Data entry
and travelling by the operator requires 3 minutes. Operator cost= $ 15 per hour and
machine cost = $ 35 per hour. (Show calculations)

(a) What is the ideal of identical machines to assign to an operator?

(b) What is the maximum number of NC machines one operator can tend without
creating idle time for the NC machine.

(c) What is the length of the repeating cycle?

(d) What assignment of NC machines will minimize the cost per batch produced?

YHAY [ B|If=prEl sl =

a- 5+40/5+8=34

b-Im=0---->m<=pA so m=3

c-
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computer aided process design

@ process selection procedure

O process identification




